

$$\frac{a}{q} + a + aq = 21 \rightarrow \frac{a}{q} + a + aq = 21 \rightarrow \frac{a}{q} + a + aq = 21 \rightarrow q = \frac{17 \pm \sqrt{225}}{1} \quad (1)$$

$$\frac{a}{q} \times a \times aq = 48 \rightarrow a^3 = 48$$

$$q = \frac{17-14}{1} = \frac{3}{1} = 3 \quad \checkmark$$

$$q = \frac{17+14}{1} = \frac{31}{1} = 31 \quad \times$$

$$(n^2)^r = (n^2-2)(n^2+2) \rightarrow \frac{n^2}{2} = n^2 + \frac{n^2}{2} - 1 \rightarrow n^2 - 2n^2 - 1 = 0 \rightarrow (n^2-4)(n^2+2) = 0$$

$$\rightarrow n^2 = 4 \rightarrow n = \pm 2 \quad n^2 = -2 \quad \times$$

$$\rightarrow n=2 \rightarrow 1, 4, 2, \dots \rightarrow a=1, q=\frac{1}{2} \rightarrow S_v = 1 \left(\frac{1-\frac{1}{2^v}}{1-\frac{1}{2}} \right) = 1 \left(\frac{1-\frac{1}{2^v}}{\frac{1}{2}} \right) = 2 \left(1 - \frac{1}{2^v} \right) = 2 - \frac{2}{2^v} = 2 - \frac{1}{2^{v-1}}$$

$$\rightarrow n=-2 \rightarrow 1, -4, 2, \dots \rightarrow a=1, q=-\frac{1}{2} \quad \times \rightarrow S_v = \frac{1-(-\frac{1}{2})^v}{1-(-\frac{1}{2})} = \frac{1-(-\frac{1}{2})^v}{\frac{1}{2}} = 2 \left(1 - (-\frac{1}{2})^v \right)$$

$$1+q+q^2+q^3+q^4 = \frac{121}{11} \times a \rightarrow a+aq+aq^2+aq^3+aq^4 = S_5$$

$$a=243 \rightarrow 1(1+q+q^2+q^3+q^4) = \frac{121}{11} \times 243 = \boxed{297}$$

سای

$$1, 0, 0, 0, 0, 0, 4 \rightarrow \frac{4^4-1}{4} = \frac{4^4}{5} \rightarrow A = a_4 = a+4d = 1 + \frac{4 \times 4^4}{5} = 32/5 \quad (2)$$

سای

$$1, 0, 0, 0, 0, 0, 4 \rightarrow \frac{4^4}{1} \rightarrow q = \pm 2 \rightarrow AB = a_4 = aq^3 = 1 \times (-2)^3 = -8$$

$$B = a_4 = aq^3 = 1 \times 2^3 = 8$$

$$\rightarrow A+B = 32/5 - 8 = -8/5 \quad A+B = 32/5 + 8 = 48/5$$

سای

$$a_{101} = a + 100d = -24 + \left(100 \times \frac{1}{5} \right) = 16$$

$$d = -\frac{96}{4} = -24 \rightarrow -\frac{96}{4} + \frac{96}{4} = 0$$

سای

$$a_1 = aq^0 = 121 \times q^0 = 121 \rightarrow q^0 = \frac{1}{121} \rightarrow q = \frac{1}{11}$$

$$a+rd \quad a+rd \quad a+rd$$

$$(a+rd)^r = (a+rd)(a+rd) \rightarrow ar^r + r^r ad + rad = ar + rad + rad \rightarrow r^r ad + rad = 0$$

$$rd(1+d+a) = 0 \rightarrow rd \neq 0 \rightarrow 1+d = -a \rightarrow a = -\frac{1}{d} \rightarrow ad = -1 \rightarrow d = -\frac{1}{a}$$

$$a+rd \quad a+rd \quad a+rd$$

$$ar^r + r^r ad + rad = ar + rad + rad \rightarrow r^r ad - rad = 0 \rightarrow rd(d-a) = 0 \rightarrow rd \neq 0$$

$$\rightarrow a=d \rightarrow rd, \epsilon d, \lambda d \rightarrow q=r, t_r = \frac{1}{\epsilon} \rightarrow t_{10} = tq^9 = \frac{1}{\epsilon} \times \frac{1}{r^9} = \frac{1}{\epsilon r^9}$$

$$ra_r \quad ra_r \quad a_\epsilon \rightarrow raq, raq^r, aq^r$$

$$\epsilon aq^r = raq + aq^r \rightarrow \epsilon aq^r = aq(r+q^r) \rightarrow r^r - \epsilon q + r = 0 \rightarrow (q-r)(q-1) = 0$$

$$\boxed{q=r} \checkmark$$

$$\rightarrow q=1 \rightarrow \text{invalid} \rightarrow X$$

$$d = \frac{v}{\epsilon} - \frac{1}{\epsilon} = -\frac{1}{\epsilon}$$

$$a_\epsilon \rightarrow a_\lambda \rightarrow a_{10} \rightarrow a+rd, a+rd, a+rd$$

$$\frac{a-r}{\epsilon} \quad \frac{a-r}{\epsilon} \quad \frac{a-r}{\epsilon}$$

$$\rightarrow \frac{a}{\epsilon} > \frac{1}{\epsilon}, -1 \rightarrow \frac{a}{\epsilon} + d \quad \frac{1}{\epsilon} + d \quad -1 + d$$

$$\frac{1}{19} + d^r + \frac{1}{r} d = -\frac{a}{\epsilon} + \frac{a}{\epsilon} d + d^r \rightarrow \frac{1}{\epsilon} d - \frac{1}{\epsilon} d = -\frac{a}{\epsilon} + \frac{1}{19} \rightarrow \frac{1}{\epsilon} d = \frac{r+1}{19}$$

$$\rightarrow d = \frac{r+1}{\epsilon} \rightarrow a_n = \left(-\frac{a}{\epsilon} - \frac{r+1}{\epsilon}\right), \left(\frac{1}{\epsilon} - \frac{r+1}{\epsilon}\right), \left(-\frac{a}{\epsilon} - \frac{r+1}{\epsilon}\right) = -\frac{17}{\epsilon}, -\frac{r}{\epsilon}, -\frac{ra}{\epsilon}$$

$$q = \left(\frac{\frac{a}{\epsilon}}{\frac{ra}{\epsilon}}\right) = \frac{a}{ra} = \frac{1}{r}$$

$$1 + ar^r + ar^r = vr \rightarrow r(1+r^r+r^r) = vr \rightarrow r(1+\lambda+re) = a(vr) \rightarrow vr \rightarrow a=1$$

$$t_r = t_{10} \rightarrow t_r = t_{10} ar^r \quad t_{10} = t_{10} d = ar^r \rightarrow t=a$$

$$\rightarrow ar^r = a+rd \rightarrow d = a(r^r-1)$$

$$ar^r = a+rd \rightarrow ar^r = a+q(a(r^r-1))$$

$$ar^r = 9ar^r - 1a \rightarrow r^r = n \rightarrow an^r = 9an - 1a$$

Subo

$$\rightarrow n^r = 9n - 1 \rightarrow n^r - 9n + 1 = 0 \rightarrow (n-1)(n-1) = 0 \rightarrow n=1 \rightarrow r=1 \rightarrow X$$